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.+ B Consider the equation
: w2 —dr+1=0

There js one real root lics inside the interval [1, 2]. Approximate this root with an error
of at most 0.005,

A
W) €. V\,ﬂ.ﬁ(’l\ f{a tﬂn_c\ Yoo Qv

o e ( o - oot ool | 4L o0ob s =
ool /@},
+

AppPre D({wva:f"fm fov Ve

meooD ¥2

= 2

Py e R
éﬁ\.% ll,ﬁl isa L9304 das e a7 08RO

V"al'&'\' 1% ._/’j

et e L L -6 = ool

o Ho following it oAl \Q’C_F—T -

C?cf.".'f’)"\ f‘:: J

- midpont = LEETNET o). 865 DN

k_ (365 (s dn WF\QJM\'VVLJI&% for Mo vw‘(

-
- 0,897

X./éh.-:l\ R 4 ]
[ _ | s
0 I% €AY ‘GQ‘TV“‘“JL" Z

) 866

{jﬁ



FrROM : FHOME MO, : Oct. B1 26081 12:11PM  PES
4

4. Usc the defenition of the derivative to find f'(x) where
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. Let f( )l)("

r+2 )

2k — k? T
flz) = (k — 2)(x — 3) Qe b

—k* + 4 e

42 T = 6

Find all values of k so that f(z) is continous on the closed interval [2, 6.
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